NAME

READING

Read. What is the correct answer: A, B,C,or D?

Mia needs an apartment. She reads the newspaper apartment ads. She goes to look at an
apartment with two bedrooms. There isn’t a bus stop in the neighborhood, but there are
two restaurants nearby. The hot water isn’t working and the bathroom door is stuck. But a
plumber is fixing the hot water, and the building manager is fixing the bathroom door. Mia

can move in next week.

32. What is near the apartment?

A.abus stop
B. a park
C. two restaurants

D. a laundromat

33. What problem is the building manager fixing?
A. There’s no bus stop. .
B. There’s no air conditioning.
C. The hot water isn’t working.
D. The bathroom door is stuck.
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There is/There are: Fill in the blank with There is, There are, Is there, or Are there as

needed. @

34. three people waiting for the bus.
35. any coffee shops nearby?

36. a grocery store three blocks away.
37. any schools .nearby?

38. a park nearby?

39. sixty seconds in a minute.

40. any children in the building?

41. a Max train nearby.

42. snow on the ground?

43. a library across the street.

Use the adjective in parenthesis in the comparative form of the adjective by using —er.
Complete each sentence. Make sure you spell the words correctly.

44 David is (tall) his brother. N
L

45. Monique is (happy) Tom.

46. Destiny is (famous) Don.

47. Her story was (interesting) Justine's.

48. That food tasted (bad) the school cafeteria’s food.

Use the adjectives in parenthesis to make a comparison using as...as.

49. She is (strong) an ox.

50. He is (tall) | his brother.

51 Bernardo and Juana are (friendly) their parents.
52. Steven is (funny) a comedian.

53. Carter is (helpful) | my assistant.




Use the verb in parenthesis to complete each present progressive sentence.

54. Todd (write) a book right now.

55. 1 ; (not, take) classes this quarter.
56. They (swim) in the pool.

57. The family (plan) a trip to the Bahamas.

58. The dogs (play) in the backyard.

Complete each sentence.

59. Affirmative:

Negative: Asli doesn’t work in the summer.

60. Question:

61. Short answer:

Affirmative: Margaret is exercising.

62. Negative:

63. Question:

64. Short answer:




